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QUESTION 1

Which of the following protocols could be used to identify the OS version installed on a server?
A. WMI

B. IMAP

C.TLS

D. SMTP

Correct Answer: A

QUESTION 2

A company that provides Software as a Service wants to prevent the application code from being modified. Which of the
following techniques should be used to accomplish this task?

A. Obfuscation
B. Encryption
C. Auditing

D. Signing

Correct Answer: D

QUESTION 3

An administrator is called in to determine why a virtual desktop has been unable to connect to the corporate network.
Which of the following should be run to determine if the adapter is enabled? (Select TWO).

A. ipconfig
B. netstat

C. ping

D. ifconfig

E. iwconfig

Correct Answer: AD

QUESTION 4

An administrator is tasked with installing an application patch on a virtual server. The administrator needs the ability to
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restore the server to its previous state quickly if the patch corrupts the system. Which of the following should the
administrator do to accomplish this task?

A. Install the patch on a development server
B. Create a full backup

C. Create a snapshot

D. Install the patch on a test server

Correct Answer: C

QUESTION 5

An administrator has created a VM on a new virtualization host and notices network speeds are significantly slower than
expected. Upon further review, the VM is using a legacy virtual driver for the NIC. Which of the following should the
administrator perform?

A. Change the default gateway to point to a faster router

B. Change the router port to support spanning tree

C. Install guest VM tools

D. Add an additional virtual NIC

Correct Answer: C

QUESTION 6

In which of the following situations would a network administrator optimize a company\\'s WAN?
A. High amounts of packet loss on a switch port

B. CPU utilization on a switch is at 95%

C. Installed new local application on a private network

D. Contracted with a SaaS provider to provide a new application

Correct Answer: D

QUESTION 7
Which of the following is true about a Type Il hypervisor?
A. It requires a primary hypervisor to function properly.

B. It implements stronger security controls than a Type | supervisor at the same patch level.
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C. It provides slower performance than a Type | hypervisor installed on the same hardware.
D. It provides direct hardware access through the use of specialized drivers.

Correct Answer: C

QUESTION 8

Which of the following would provide the ability to perform transparent page sharing?
A. Type | hypervisor

B. Logical arrays

C. Type Il hypervisor

D. Journal file system

Correct Answer: A

QUESTION 9

Multipathing software normally chooses favored paths based on which of the following?
A. Caching

B. NICs

C. Latency

D. QoS

Correct Answer: C

QUESTION 10

Several servers are connected to a SAN using three storage devices and FCoE for transmissions. These servers only
need to access one SAN device. All servers, the SAN, and the HBA are virtualized. Which of the following should be
used to ensure access is controlled appropriately between devices? (Select TWO).

A. LUN Masking

B. Hard Zoning

C. Supernetting

D. Soft Zoning

E. Subnetting

Correct Answer: AD
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QUESTION 11

A critical hypervisor security patch has been released and needs to be rolled out as soon as possible. Which of the
following steps can be taken to minimize downtime for all guest VMs currently running?

A. In the next scheduled maintenance window, apply patch, reboot host, and wait for all VMs to come back online.

B. In the next scheduled maintenance window, migrate VMs to another host. Remove host from any availability clusters,
patch host, reboot host, and place host back into availability cluster.

C. In the next scheduled maintenance window, shut down all VMs, apply patch, reboot host, and wait for all VMs to
come back online.

D. In the next scheduled maintenance window, migrate VMs to another host. Remove host from any availability clusters,
unplug network cables from host, patch host, reboot host, reconnect network cables, and place host back into
availability cluster.

Correct Answer: B

QUESTION 12

An application has been moved to a new third-party public cloud provider. Which of the following should be completed
before load testing begins?

A. Perform baseline measurements
B. Notify the end user community
C. Set up service level agreement
D. Set up DHCP

Correct Answer: A

QUESTION 13

A company has contracted email and storage services from a cloud provider. They have seen significant growth in sales
of their product and have been hiring additional workers. Their recent cloud services bill has increased and is projected
to increase with another new project coming online. Which of the following cloud characteristics is represented?

A. Pay-as-you-grow

B. Cloud bursting

C. Just-in-time service

D. Rapid deployment

Correct Answer: A
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QUESTION 14

An administrator adds a new virtualization host to an existing cluster but is unable to move existing VMs to the new host.
Which of the following is MOST likely to be a reason for the VM mobility failure?

A. There are too many connections to the iISCSI LUN.

B. Minimum memory configuration has not been met in the system.
C. The host has not been added to the resource pool.

D. Different CPU architectures are being used.

Correct Answer: D

QUESTION 15

Which of the following business continuity designs provides the highest degree of fault tolerance?
A. Cold Site

B. Site Mirroring

C. Warm Site

D. Hot Site

Correct Answer: B
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